
Mechanika Budowli S1 - grupa 2, ćwiczenia projektowe

wyniki

Projekt 3

1. 38754 3,5

2. 33397 do poprawy

3. 38782 do poprawy

4. 38783 do poprawy

5. 38785 5-

6. 38786 4,5

7. 38788 5=

8. 38789 brak(2,0)/4,5

9. 38857 3,5

10. 37287 do poprawy

11. 38791 do poprawy

12. 38793 4,0

13. 38794 3,0

14. 38797 do poprawy

15. 36759 nie te dane

16. brak(2,0)

17. 38800 3,5

18. 39858 brak(2,0)

19. 38805 3,5

20. 38806 2,0

21. 38807 brak(2,0)

22. 39859 brak(2,0)

23. 33638 brak(2,0)

24. 38815 brak(2,0)/3,0

25. 38817 2,0

26. 38824 5,0

27. 36171 3,5

Lp. Nr albumu


